

#### PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

August 14, 2017

PIAC FILE # 6596

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON M4P 1E4

VIA E-Mail – <u>boardsec@oeb.ca</u> 27pages

Dear Ms. Walli:

Re:

Board File No. EB-2016-0152- Ontario Power Generation Inc. (OPG)

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

We have attached the cost claim of the Vulnerable Energy Consumers Coalition (VECC) associated with its participation in the above-noted proceeding. We have also directed a copy to the Applicants as well as their Counsel.

Also please note that VECC Counsel Michael Janigan did not bill for any time that was taken to instruct new counsel in the above-noted proceeding.

Thank you.

Donna Brady

Office Administrator

cc:

OPG - Saba Zadeh - opgregaffairs@opg.com

Counsel - Charles Keizer - ckeizer@torys.com

Counsel - Crawford Smith - csmith@torys.com



#### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required fields are filled in and the Affidavit portion is signed and sworn or affirmed.

	Instructions
	rmulas are present in the document to assist with the calculation of the
cost claim All claims must be in Canadian dollars. If applicable, state e	avelongs rate and accustor of initial
Rate	The state of the s
- A separate "Detail of Fees and Disbursements Being Claimed	d" (comprising a "Statement of Fees Being Claimed" and a "Statement of
Disbursements Being Claimed") is required for each consultar	nt or lawyer/articling student/paralegal. However, only one
"Summary of Fees and Disbursements" covering the whole of	the party's cost claim should be provided.
- The cost claim must be supported by a completed Affidavit s	signed by a representative of the party. en consultant, a CV has been provided to the Board in another process
within the last 24 months.	en consultant, a CV has been provided to the Board in another process
- Except as provided in section 7.03 of the Practice Direction	on Cost Awards, itemized receipts must be provided.
File # EB- 2016-0152	Process: Ontario Power Generation (OPG)
Party: VECC	Affiant's Name: Donna Brady
HST Number: 13059 2405	HST Rate Ontario: 3.94%
Full Registrant	Qualifying Non-Profit
Unregistered	Tax Exempt
Other 🔲	,
	Affidavit
I, Donna Brady	, of the City/Town of Ottawa
in the Province/State of Ontario	, swear or affirm that:
1. I am a representative of the above-noted party (the "Party"	') and as such have knowledge of the matters attested to herein.
2. I have examined all of the documentation in support of this	s cost claim, including the attached "Summary of Fees and Disbursements
Being Claimed", "Statement(s) of Fees Being Claimed" and "St	catement(s) of Disbursements Being Claimed".
3. The attached "Summary of Fees and Disbursements Being (	Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of
	d time spent directly for the purposes of the Party's participation in the
Ontario Energy Board process referred to above.	r time count has record that it and the first of the firs
described in sections 6.05 and 6.09 of the Board's Practice Dir	r time spent, by a person that is an employee or officer of the Party as
accounted in sections 0.05 and 0.05 of the board's Plactice Diff	ection off cost Awards.
Signature of Affiant	<del></del>
Sworn or affirmed before me at the City/Town of	Ottawa
in the Province/State of Ontario	11 2 11 2 11
- Ontario	, on <u>Hug. [4-20]</u>
Alica and	,
HURUSKALL	
Commissioner for taking Affidavits	



#### Affidavit and Summary of Fees and Disbursements

riie# cb-	2016-0152	Process:	Ontario Power Generation (OPG)
Party:	VECC		
		Summary of Fees and Disburse	ments Being Claimed
Legal/cons	sultant fees	\$130,684.00	
Disbursem	nents	\$298.65	
HST		\$5,158.53	
<b>Total Cost</b>	Claim	\$136,141.18	



#### **Detail of Fees and Disbursements Being Claimed**

File # EB-	EB-2016-0152		Process: C	Intario Power Generation (OF	PG)
Party:	Vulnerable Energy Consumers Co	alition	Service Pro	ovider Name: Michael Janiga	1
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Complete Practising/Year Experie	s of Relevant
	Legal Counsel	<b>V</b>	1980	36	
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	hed ided within previous	HST Rate Charged (enter % ):	3.9%

St	atement o	of Fe	es Being	Cla	imed				
	Hours	Но	Hourly Rate Subtotal HST		Total				
Pre-hearing Conference									
Preparation		\$	330.00	\$	2	\$	2	\$	2
Attendance		\$	330.00	\$	-	\$	-	\$	2
Technical Conference									
Preparation	17.20	\$	330.00	\$	5,676.00	\$	223.63	\$	5,899.63
Attendance	21.50	\$	330.00	\$	7,095.00	\$	279.54	\$	7,374.54
Interrogatories									
Preparation	1.50	\$	330.00	\$	495.00	\$	19.50	\$	514.50
Responses		\$	330.00	\$	-	\$	-	\$	-
Issues Conference									
Preparation	1.80	\$	330.00	\$	594.00	\$	23.40	\$	617.40
Attendance		\$	330.00	\$	35	\$	120	\$	~
ADR - Settlement Conference									
Preparation	2.70	\$	330.00	\$	891.00	\$	35.11	\$	926.11
Attendance	16.80	\$	330.00	\$	5,544.00	\$	218.43	\$	5,762.43
Proposal Preparation	0.30	\$	330.00	\$	99.00	\$	3.90	\$	102.90
Argument						Ť			
Preparation		\$	330.00	\$	((=)	\$	40	\$	12
Oral Hearing									
Preparation	34.50	\$	330.00	\$	11,385.00	\$	448.57	\$	11,833.57
Attendance	14.10	\$	330.00	\$	4,653.00	\$	183.33	\$	4,836.33
Other Conferences									
Preparation	11.90	\$	330.00	\$	3,927.00	\$	154.72	\$	4,081.72
Attendance		\$	330.00	\$	-	\$	(*)	\$	2 <b>±</b>
Case Management	2.20	\$	170.00	\$	374.00	\$	14.74	\$	388.74
TOTAL SERVICE PROVIDER FEES				\$	40,733.00	\$	1,604.88	\$	42,337.88

TraxTime report for Michael Janigan created 7/24/2017 07:51 PM

Thursday, June 30, 2016 - Total 2.1

in: 9:14a out: 11:22a 2.1

6596OPGPaymentAmounts

review Cof Capital evidence Teleconference with Laurence Booth.

Thursday, August 04, 2016 - Total 2.1

in: 9:02a out: 11:08a

2.1

6596OPGPaymentAmounts

review evidence and teleconference with intervenors

Wednesday, August 31, 2016 - Total 1

in: 1:16p out: 2:13p 1

6596OPGPaymentAmounts

review of issues list submissions

Monday, September 12, 2016 - Total 1.4

in: 2:09p out: 3:35p 1.4

6596OPGPaymentAmounts

review emails and prep intention to submit evidence

Wednesday, September 28, 2016 - Total 0.3

in: 5:31p out: 5:49p 0.3

6596OPGPaymentAmounts

receipt and review of evidence decision and emails

Friday, September 30, 2016 - Total 3.2

in: 11:02a out: 11:38a

0.6

6596OPGPaymentAmounts

to review of interrogs Cost of Capital

in: 2:06p out: 4:44p 2.6

6596OPGPaymentAmounts

o review of decision and other materials and to commence draft

of letter.

Sunday, October 02, 2016 - Total 1.3

in: 1:44p out: 3:04p 1.3

6596OPGPaymentAmounts

to complete draft and emails with Booth

Monday, October 03, 2016 - Total 1.5

in: 9:22p out: 10:49p 1.5

6596OPGPaymentAmounts

to emails with co sponsors and Booths and editing of submission

Friday, November 04, 2016 - Total 3.5

in: 12:33p out: 2:47p 2.2

6596OPGPaymentAmounts

review interrogs prepare for technical conference

in: 4:15p out: 5:31p 1.3

6596OPGPaymentAmounts

review interrogs

Saturday, November 05, 2016 - Total 1.6

in: 11:10a out: 12:46p

1.6

6596OPGPaymentAmounts

review interrogs and prep for Tech conference

Wednesday, November 09, 2016 - Total 1.3

in: 6:06p out: 7:25p 1.3

6596OPGPaymentAmounts

review correspondence and emails re issues at Tech conference

Sunday, November 13, 2016 - Total 5.9

in: 12:31p out: 2:17p 1.8

6596OPGPaymentAmounts

review of evidence and tech conference questions

in: 4:12p out: 6:18p 2.1

6596OPGPaymentAmounts

for tech conference

in: 8:02p out: 9:59p 2

6596OPGPaymentAmounts

prep for tech conference

Monday, November 14, 2016 - Total 9

in: 7:07a out: 7:44a 0.6

6596OPGPaymentAmounts

prep for tech conference

in: 9:30a out: 4:40p 7.2

6596OPGPaymentAmounts

attend at tech conference

in: 6:49p out: 8:02p 1.2

6596OPGPaymentAmounts

prep panel 2 questions

Tuesday, November 15, 2016 - Total 10.1

in: 7:27a out: 7:51a 0.4

6596OPGPaymentAmounts

review notes

in: 9:30a out: 5:10p 7.7

6596OPGPaymentAmounts

attend technical conference

in: 8:12p out: 10:10p

6596OPGPaymentAmounts

review notes and transcript

Wednesday, November 16, 2016 - Total 7.3

2

in: 6:46a out: 7:30a 0.7

6596OPGPaymentAmounts

review notesand emails

in: 9:30a out: 4:05p 6.6

6596OPGPaymentAmounts

attend at Technical Conference

Thursday, December 01, 2016 - Total 0.5

in: 4:44p out: 5:15p 0.5

6596OPGPaymentAmounts

review interrogs

Friday, December 02, 2016 - Total 0.4

in: 6:12a out: 6:38a 0.4

6596OPGPaymentAmounts

edit interrogs

Thursday, January 05, 2017 - Total 0.8

in: 11:14a out: 12:03p

0.8

6596OPGPaymentAmounts

review Issues list decision and file.

Saturday, January 07, 2017 - Total 0.6

in: 11:11a out: 11:49a

0.6

6596OPGPaymentAmounts

review file and Cost of Capital issue emails with Booth

Monday, January 09, 2017 - Total 9

in: 6:13a out: 8:10a 2

6596OPGPaymentAmounts

review notes for settlement conference

in: 9:30a out: 4:30p 7

6596OPGPaymentAmounts

attend settlement conference

Tuesday, January 10, 2017 - Total 6.1

in: 8:12a out: 8:28a 0.3

6596OPGPaymentAmounts

prep for ADR review of previous OPG CofC decisions

in: 9:30a out: 3:20p 5.8

6596OPGPaymentAmounts

attend at ADR

Wednesday, January 11, 2017 - Total 4.4

in: 8:14a out: 8:37a 0.4

6596OPGPaymentAmounts

review previous OPG Decisions

in: 10:00a out: 2:00p 4

6596OPGPaymentAmounts

Attendance at ADR

Thursday, January 19, 2017 - Total 0.3

in: 12:10p out: 12:28p

0.3

6596OPGPaymentAmounts

review settlement agreement.

Friday, February 10, 2017 - Total 0.4

in: 5:35p out: 5:59p 0.4

6596OPGPaymentAmounts

review file

Saturday, February 11, 2017 - Total 0.8

in: 12:13p out: 1:01p 0.8

6596OPGPaymentAmounts

review interrogs

Monday, February 20, 2017 - Total 3.4

in: 1:12p out: 3:21p 2.2

6596OPGPaymentAmounts

organizing evidence bill as case management rate

in: 5:03p out: 6:16p 1.2

6596OPGPaymentAmounts

review evidence for first panel

Tuesday, February 21, 2017 - Total 2.6

0.6

in: 8:33a out: 9:27a 0.9

6596OPGPaymentAmounts

review evidence first panel

in: 11:31a out: 12:07p

review of evidence for Panel 1

in: 2:56p out: 3:12p 0.3

6596OPGPaymentAmounts

review evidence

in: 4:10p out: 5:00p 0.8

6596OPGPaymentAmounts

review evidence

Thursday, February 23, 2017 - Total 1.8

in: 12:37p out: 1:34p 1

6596OPGPaymentAmounts

review evidence Panel 1

6596OPGPaymentAmounts

in: 7:11p out: 7:59p 0.8 review file prep cross

6596OPGPaymentAmounts

Friday, February 24, 2017 - Total 3.3

in: 2:11p out: 5:29p 3.3

6596OPGPaymentAmounts

review interrogs

Saturday, February 25, 2017 - Total 3.6

in: 9:13a out: 10:44a

1.5

6596OPGPaymentAmounts

review evidence for upcoming panels and updates

in: 2:11p out: 4:19p 2.1

6596OPGPaymentAmounts

review evidence DRP

Sunday, February 26, 2017 - Total 3.3

in: 12:17p out: 1:00p 0.7

6596OPGPaymentAmounts

read evidence prep for hearing

in: 3:14p out: 5:08p 1.9

6596OPGPaymentAmounts

read evidence and prep

in: 7:19p out: 8:02p 0.7

6596OPGPaymentAmounts

reeview file

Monday, February 27, 2017 - Total 10.1

in: 6:46a out: 8:04a 1.3

6596OPGPaymentAmounts

in: 9:30a out: 11:20a

1.8

6596OPGPaymentAmounts

to attendance at the OEB

in: 11:48a out: 1:00p 1.2

6596OPGPaymentAmounts

monitor hearing 1/2 rate

in: 2:10p out: 3:45p 1.6

6596OPGPaymentAmounts

monitor hearing half rate

in: 4:05p out: 4:46p 0.7

6596OPGPaymentAmounts

monitor hearing half rate

in: 7:12p out: 10:44p

3.5

6596OPGPaymentAmounts

draft cross select materials for compendium

Tuesday, February 28, 2017 - Total 9.1

in: 6:47a out: 8:20a 1.6

6596OPGPaymentAmounts

review file and prep for hearing

in: 9:30a out: 5:00p 7.5

6596OPGPaymentAmounts

attend at hearing

Wednesday, March 01, 2017 - Total 2.2

in: 3:12p out: 3:55p 0.7

6596OPGPaymentAmounts

review evidence and emails.

in: 7:26p out: 8:55p 1.5

6596OPGPaymentAmounts

to review of interrogs

Friday, March 03, 2017 - Total 7.7

in: 9:51a out: 12:03p

2.2

6596OPGPaymentAmounts

research fo panel 1C

in: 1:15p out: 5:05p 3.8

6596OPGPaymentAmounts

research and assemle compendium

in: 7:33p out: 9:17p 1.7

6596OPGPaymentAmounts

draft cross examination Panel 1C

Saturday, March 04, 2017 - Total 1.6

in: 9:22a out: 11:00a

1.6

6596OPGPaymentAmounts

research re Pegasus panel

Sunday, March 05, 2017 - Total 0.9

in: 4:11p out: 5:07p 0.9

6596OPGPaymentAmounts

complete compendium and cross notes

\_\_\_\_\_

Totals From Friday, January 01, 2016 To Monday, July 24, 2017

124.5

6596OPGPaymentAmounts

124.5

Total

Michael Janigan
Janigan Professional Corporation
c/o Public Interest Advocacy Centre
1204-ONE Nicholas Street
Ottawa, ON
KIN 7B7

#### STATEMENT OF ACCOUNT

April 1, 2017

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re: EE

EB - 2016-0152

Ontario Power Generation Inc. (OPG)

**Vulnerable Energy Consumers Coalition (VECC)** 

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$330.00 per hour

To receipt, review, and attending on behalf of VECC in the above-noted proceeding.

June 2016 to March 2017

TO: Hours

122.30 Hours @ \$330.00 per hour 2.20 Hours @ 170.00 per hour

40,359.00

374.00

HST @ 13%

5,295.29

TOTAL AMOUNT DUE AND OWING:

\$ 46,028.29

Michael Janigan Janigan Professional Corporation - 831059738

#### **Donna Brady**

To:

Donna Brady

Subject:

FW: OPG Payment Amounts EB-2016-21 cost claim.

Attachments:

printing costs.pdf; OPGDockets MJ.txt

From: Michael Janigan [mailto:mjanigan@mjanigan.ca]

Sent: Monday, July 24, 2017 8:24 PM

To: dbrady@piac.ca

Subject: OPG Payment Amounts EB-2016-21 cost claim.

Hi Donna:

I have attached my dockets, and disbursements.

Please bill 370 photocopies.

Thanks.

Michael Janigan 14B Glenview Ave. Toronto, ON M4R 1P6 370 × 0.15 = 55.50

6506

PRINT THREE
2300 YONGE-ST
416-481 5159
CALL AGAIN

REG 02-28-2017 12:27

NON-TAX T1 \$59.40 TAX-AMT 1 \$59.40 TAX 1 \$7.72 CHARGE \$67.12

0011

6596

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

REG 03-06-2017 10:14 0007

E00 X 00.15
DEPT03 T1 \$90.00
TAX-AMT 1 \$90.00
TAX 1 \$11.70
CHARGE \$1 0 1.70

PRINT THREE
PO BOX 2428 2300 M4P1E4
TORONTO ON
22062372

PURCHASE

1111

Trace # 670001 FS2206237201 Auth #:050029 RRN G01351001

Total

\$101.70

( GO ) APPROVED-THANK YOU

Retain this copy for your records Customer copy PRINT THREE
PO BOX 2428 2300 M4P1E4
TORONTO ON
22062372

PURCHASE

Trace # 638004 FS2206237201 Auth # 065824 RRN 001347004

Total

\$67.12

( GO ) APPROVED-THANK YOU

Retain this copy for your records
Customer copy



#### **Detail of Fees and Disbursements Being Claimed**

File # EB- EB-2016-0152

Process:

Ontario Power Generation (OPG)

Party:

Vulnerable Energy Consumers Co

Service Provider Name:

Michael Janigan

Sta	tement of Disbursemen				
		let Cost	ŀ	HST	Total
Scanning/Photocopy	\$	55.50			\$ 55.50
Printing	\$	149.40	\$	5.89	\$ 155.29
Courier					\$ 2
Telephone/Fax					\$ Ψ.
Transcripts					\$ -
Travel: Air					\$ 
Travel: Car					\$ 2
Travel: Rail					\$ =
Travel (Other):					\$ -
Parking					\$ -
Taxi					\$ -
Accommodation					\$ 2
Meals					\$ 2
Other:					\$ -
Other:					\$ -
Other:					\$ -
TOTAL DISBURSEMENTS:	\$	204.90	\$	5.89	\$ 210.79



#### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2016-0152		Process: O	Intario Power Generation (OP	G)
Party:	Vulnerable Energy Consumers Coa	ilition	Service Pro	ovider Name: Cynthia Khoo	
		(check one )	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Legal Counsel Articling Student/Paralegal Consultant Analyst		2016	Hourly Rate:	\$170
	For Consultant/Analyst:	CV attac	hed ided within previous	HST Rate Charged (enter % ):	3.9%

St	atement o	of Fe	es Being	Cla	imed			Alle	
	Hours	Но	urly Rate		Subtotal	Г	HST Tota		Total
Pre-hearing Conference									
Preparation		\$	170.00	\$	2	\$	-	\$	2
Attendance		\$	170.00	\$	-	\$	-	\$	-
Technical Conference									
Preparation		\$	170.00	\$	5	\$	275	\$	-
Attendance		\$	170.00	\$	4	\$	-	\$	2
Interrogatories									
Preparation		\$	170.00	\$	-	\$	*	\$	_
Responses		\$	170.00	\$	-	\$	36	\$	-
Issues Conference								-18/	
Preparation		\$	170.00	\$	8	\$	-	\$	-
Attendance		\$	170.00	\$	2	\$	820	\$	7.0
ADR - Settlement Conference									
Preparation		\$	170.00	\$	-	\$	-	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Proposal Preparation		\$	170.00	\$	-	\$		\$	-
Argument									
Preparation	49.05	\$	170.00	\$	8,338.50	\$	328.54	\$	8,667.04
Oral Hearing					•		250 MONTO CONTO 100 (1)	11724	
Preparation	34.00	\$	170.00	\$	5,780.00	\$	227.73	\$	6,007.73
Attendance	64.00	\$	170.00	\$	10,880.00	\$	428.67	\$	11,308.67
Other Conferences									
Preparation		\$	170.00	\$	-	\$	(2)	\$	
Attendance		\$	170.00	\$	-	\$	-	\$	
Case Management	13.25	\$	170.00	\$	2,252.50	\$	88.75	\$	2,341.25
TOTAL SERVICE PROVIDER FEES				\$	27,251.00	\$	1,073.69	\$	28,324.69

# Ontario Energy Board -- EB-2016-0152 Ontario Power Generation -- Cynthia Khoo -- Time Docket - PIAC File # 6596

				֡			A MILLIAM WALLES
00 Finish preparing cross-examination for Panel 5Ai (Concentric), assist with completing compendium	11:00 PM 3:00:00	8:00 PM 11:0	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	Ş	04/03/201/
00	4:30 PM 7:00:00	9:30 AM 4:3	OEB - Attend Hearing	OPG EB 2016-0152	VECC	웃	04/03/2017
00 Review materials, prepare cross-examinations for Panels 5Ai and 5Aii	8:00 PM 5:00:00	3:00 PM 8:0	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	S	04/02/2017
00 Attend hearing; cross-examine Pacific Economics Group (Mark Lowry)	3:42 PM 6:12:00	9:30 AM 3:4	OEB - Attend Hearing	OPG EB 2016-0152	VECC.	Š	03/23/2017
00 Attend hearing; cross-examine Panel Ai (hydroelectric rate-setting & London Economics International	4:30 PM 7:00:00	9:30 AM 4:3	OEB - Attend Hearing	OPG EB 2016-0152	VECC	5	03/21/201/
:00 Review reports, read interrogatories, formulate cross-examination questions /areas re hydroelectric rate-setting & London International Economics Report	7:00 PM 4:00:00	3:00 PM 7:0	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	Ş	03/20/2017
:00 Attend hearing	1:30 PM 4:00:00	9:30 AM 1:3	OEB - Attend Hearing	OPG EB 2016-0152	VECC	웃	03/20/2017
:00 Read relevant parts of OPG application & LEI Report	5:00 PM 5:00:00	12:00 PM 5:0	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	웃	03/16/2017
3:00:00 Read on cost of capital	6:00 PM 3:00	3:00 PM 6:0	OEB - Review/Process Documents	OPG EB 2016-0152	VECC	S	03/14/2017
:00 Review record; read on cost of capital	12:00 PM 3:00:00	9:00 AM 12:0	OEB - Review/Process Documents	OPG EB 2016-0152	VECC	웃	03/14/2017
:00 Attend hearing	4:00 PM 6:30:00	9:30 AM 4:0	OEB - Attend Hearing	OPG EB 2016-0152	VECC	웃	03/10/2017
:00 Prep cross-examination of Kenneth Roberts / Schiff Hardin	9:30 AM 1:30:00	8:00 AM 9:		OPG EB 2016-0152	VECC	CK	71.07/60/50
:00 Read Schiff Hardin testimony, note potential lines of questioning, consult w/ MG	9:00 PM 3:00:00	6:00 PM 9:	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	Ç Ç	03/08/201/
:00 Strategy/planning/onboarding meeting / MJ & MG	12:00 PM 3:00:00	9:00 AM 12:	OEB - Call/Meeting	OPG EB 2016-0152	VECC	웃	03/08/2017
:00 Attend hearing & cross-examine Patricia Galloway (Pegasus - Giobal)	4:30 PM 7:00:00	9:30 AM 4:	CRTC - Attend Hearing	OPG EB 2016-0152	VECC	Ş	03/0//2017
5:00:00 Review materials; prepare cross-examination of Patricia Galloway (Pegasus - Global)	12:00 AM 5:0	7:00 PM 12:	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	e e	03/06/2017
1:00:00 Meeting w/ MG	5:00 PM 1:0	4:00 PM 5:	OEB - Call/Meeting	OPG EB 2016-0152	VECC	S	03/06/2017
6:30:00 Attend OPG hearing	4:00 PM 6:3	9:30 AM 4:	OEB - Attend Hearing	OPG EB 2016-0152	VECC	S	03/06/2017
1:30:00 Meeting w/ MJ	9:30 AM 1:3	8:00 AM 9:	OEB - Case Planning/Strategy	OPG EB 2016-0152	VECC	웃	03/06/2017
Duration Note	Finish Dura	Start	Task	Project	ple Client	People	Date

	10.20 01	10.44	OFF Propose Final Assumption	OPG EB 2016-0152	SECO.	2	クト つら 可 いっこう
1:23:24 Draft cost of capital section - nuclear v hydro assets, move to IRM	8:50 PM	7:27 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	CK	05/25/2017
1:21:56 Draft cost of capital section - introduction, nuclear v hydro assets	7:11 PM	5:49 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/25/2017
0:30:00 Review MG draft/notes, respond to emails	4:30 PM	4:00 PM	OEB - Case Planning/Strategy	OPG EB 2016-0152	VECC	S	05/25/2017
0:24:00 Discuss final submission w/ consultant	1:24 PM	1:00 PM	OEB - Case Planning/Strategy	OPG EB 2016-0152	VECC	S	05/25/2017
1:10:00 Review OPG Transcript Vol 19	1:00 AM	11:50 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/24/2017
1:18:54 Review OPG Transcript Vol 18	10:33 PM	9:15 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/24/2017
0:33:00 Review transcripts: Volume 18-19	1:30 AM	12:57 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/23/2017
0:23:00 Review transcripts: Volume 18-19	12:20 AM	11:57 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/22/2017
0:46:30 Review transcripts: Volume 18-19	11:37 PM	10:50 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/22/2017
2:26:00 Review transcripts: Volume 18-19	8:48 PM	6:22 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/22/2017
1:24:00 Create skeleton arguments outline	9:50 PM	8:26 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/21/2017
make/counter  1:31:18 Cost of Capital: review OPG arguments OFR staff arguments	7:03 PM	5:31 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	CK	05/21/2017
2:15:00 Cost of Capital: review OPG arguments, OEB staff arguments, intervenor materials, consultant notes, extract points /arguments to	4:30 PM	2:15 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	CK	7102/12/90
0:26:00 Review issues list, respond to MG email	11:36 AM	11:10 AM	OEB - Case Planning/Strategy	OPG EB 2016-0152	VECC	웃	05/14/2017
1:38:00 Discussion call	12:38 PM	11:00 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/05/2017
0:45:00 Review notes from LBooth	8:30 PM	7:45 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	Ç	05/04/2017
1:30:00 Start reviewing OPG arguments-in-chief	3:00 PM	1:30 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/04/2017
3:00:00 Attend hearing; cross-examine Panel 6 (rate smoothing)	4:00 PM	1:00 PM	OEB - Attend Hearing	OPG EB 2016-0152	VECC	Ç	7.107/7/1/60
2:00:00 Review MG response to questions; finalize cross-examination for Panel 6	12:00 PM	10:00 AM	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	£ £	04/12/2017
1:00:00 Review MG's notes & compendium; email questions/feedback	9:00 PM	8:00 PM	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	CK	04/11/201/
2:00:00 Review rate smoothing evidence	6:00 PM	4:00 PM	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	웃	04/11/2017
0:30:00 Consult MG; review evidence	11:15 PM	10:45 PM	OEB - Prepare Cross-Examination	OPG EB 2016-0152	VECC	S	04/10/2017
0:25:00 Review hearing schedule, consider work plan, liaise with consultant	8:45 PM	8:20 PM	OEB - Case Planning/Strategy	OPG EB 2016-0152	VECC	웃	04/10/2017
6:50:00 Attend hearing; cross-examine Panel 5B	4:20 PM	9:30 AM	OEB - Attend Hearing	OPG EB 2016-0152	VECC	웃	04/06/2017
2:45:00 Attend hearing; cross-examine Panel 5Aii	12:30 PM	9:45 AM	OEB - Attend Hearing	OPG EB 2016-0152	VECC	CX	1107/50/40
2:00:00 Review Brattle Report, cross-examination materials, and finalized questions to cross Brattle Group	MA 00:21	10.00 TR	Orb - Hebaile Oloss-Examination		i	2	0.000

			i otal.				
parties			Total				
1:33:14 Final review / proofread / format / finalizing / email to Board and	7:22 PM	5:49 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/29/2017
3:04:13 Fill in /add /format citations	5:49 PM	2:45 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/29/2017
capital points 0:14:00 Write rest of introduction, conclusion, overview, remaining cost of	2:00 PM	1:46 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/29/2017
numbering, clean up extraneous sections 2:40:00 Write rest of introduction, conclusion, overview, remaining cost of	1:20 PM	10:40 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/29/2017
2:07:00 Finalize cost of capital section, transfer into full draft, format and adjust	2:40 AM	12:33 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/29/2017
2:00:00 Merge MG cost of capital into full draft, transfer citations	12:30 AM	10:30 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
0:38:59 Email MG questions re clarification / citations	9:08 PM	8:30 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
0:29:00 Start drafting introduction	8:20 PM	7:51 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
0:21:02 Review MG notes re compensation; edit & incorporate into full draft	7:02 PM	6:41 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
0:48:00 Review MG notes re compensation; edit & incorporate into full draft	6:18 PM	5:30 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
1:12:00 Review MG notes re compensation; edit & incorporate into full draft	4:30 PM	3:18 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
0:39:00 Review intervenor submissions re compensation	2:50 PM	2:11 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/28/2017
0:28:04 Review intervenor submissions re compensation	2:05 PM	1:37 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/28/2017
0:46:55 Review new draft notes from MG, incorporate into full draft	1:30 PM	12:43 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/28/2017
1:36:00 Format & revise draft outline from MG	12:15 AM	10:39 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/27/2017
2:19:00 Review materials on other sections/issues	10:20 PM	8:01 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/27/2017
0:57:00 Draft cost of capital section - US proxies	8:54 PM	7:57 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/26/2017
0:24:00 Draft cost of capital section - US proxies	7:40 PM	7:16 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/26/2017
0:23:00 Draft cost of capital section - US proxies	7:00 PM	6:37 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/26/2017
0:32:00 Draft cost of capital section - credit metrics	6:08 PM	5:36 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/26/2017
0:31:00 Draft cost of capital section - credit metrics	5:28 PM	4:57 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/26/2017
8	4:45 PM	4:03 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	웃	05/26/2017
46	3:48 PM	3:20 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/26/2017
1:28:19 Draft cost of capital section - Stand-alone principle	2:59 PM	1:30 PM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/26/2017
1:00:00 Draft cost of capital section - Stand-alone principle	5:13 AM	4:13 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/26/2017
0:50:00 Draft cost of capital section - move to IRM	3:50 AM	3:00 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	S	05/26/2017
0:14:00 Draft cost of capital section - intergenerational equity	2:00 AM	1:46 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	SK	05/26/2017
0:24:00 Draft cost of capital section - used & useful, intergenerational equity	1:35 AM	1:11 AM	OEB - Prepare Final Arguments	OPG EB 2016-0152	VECC	SK	05/26/2017

Cynthia Khoo

External Counsel, Regulatory Affairs

Public Interest Advocacy Centre 1139 College Street Toronto, ON M6H 1B5

604.725.5484 ckhoo@piac.ca

#### STATEMENT OF ACCOUNT

August 14, 2017

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re:

EB - 2016-0152

Ontario Power Generation Inc. (OPG)

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$170.00 per hour

To receipt, review, attend on behalf of VECC in the above-noted proceeding.

March to May 2017

TO: Hours

160.30 Hours @ \$170.00 per hour

27,251.00

HST @ 13%

3,542.63

TOTAL AMOUNT DUE AND OWING:

\$ 30,793.63

Cynthia Khoo - HST # 739361897

086

PRINT THREE
PO BOX 2428 2300 M4P1E4
TORONTO ON
22062372

29

PRINT THREE
PO BOX 2428 2300 M4P1E4
TORONTO ON
22062372

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

REG 03-09-2017 12:22

DEPTC3 TAX-0MT 1 \$73.80 TAX 1 \$73.80 TAX 1 \$9.59 CHARGE \$83.39

Retain this copy for your records
Customer copy

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

REG 04-12-2017 12:55

133 X 00.15 DEPTO3 TAX-AMT 1 \$19.95 TAX 1 \$19.95 CHARGE \$2.59

Customer copy



#### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2016-0152	Process:	Ontario Power Generation (OPG)	

Party: Vulnerable Energy Consumers Co Service Provider Name: Cynthia Khoo

	Ne	et Cost		HST	Total
Scanning/Photocopy					\$ -
Printing	\$	93.75	\$	3.69	\$ 97.44
Courier					\$ -
Telephone/Fax					\$ -
Transcripts					\$ -
Travel: Air					\$ 3
Travel: Car					\$ ΠE
Travel: Rail					\$ 141
Travel (Other):					\$
Parking					\$ 28
Taxi					\$ -
Accommodation					\$ 720
Meals					\$ 020
Other:					\$ (e.
Other:					\$ 1.00
Other:					\$ 
TOTAL DISBURSEMENTS:	\$	93.75	Ś	3.69	\$ 97.44



#### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2016-0152		Process: O	Intario Power Generation (OP	G)
Party:	Vulnerable Energy Consumers Co	palition	Service Pro	ovider Name: Laurence Booth	
	SERVICE PROVIDER TYPE Legal Counsel	(check one )	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	ched ided within previous	HST Rate Charged (enter %):	3.9%

1	Hours	Ha	urly Rate		Subtotal		HCT		Total
Due honding Confessor	Hours	по	uriy kate		Subtotal	_	HST		Total
Pre-hearing Conference				<u> </u>					
Preparation	20.75		330.00	\$	6,847.50	\$	269.79	\$	7,117.29
Attendance		\$	330.00	\$		\$	10 <del>0</del> 1	\$	
Technical Conference									
Preparation		\$	330.00	\$	<u>=</u>	\$	2	\$	2
Attendance		\$	330.00	\$	¥	\$	-	\$	-
Interrogatories									
Preparation	33.25	\$	330.00	\$	10,972.50	\$	432.32	\$	11,404.82
Responses		\$	330.00	\$	-	\$	:=:	\$	-
Issues Conference									
Preparation		\$	330.00	\$		\$	12	\$	=
Attendance		\$	330.00	\$	-	\$	-	\$	_
ADR - Settlement Conference								- 10.5	
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	2	\$	-	\$	=======================================
Proposal Preparation		\$	330.00	\$	2	\$	-	\$	
Argument			307 504 6 4 4 4 6 6						*
Preparation	20.25	\$	330.00	\$	6,682.50	\$	263.29	\$	6,945.79
Oral Hearing				Ė	,				
Preparation	19.50	\$	330.00	\$	6,435.00	\$	253.54	\$	6,688.54
Attendance	8.00	\$	330.00	\$	2,640.00	\$	104.02	\$	2,744.02
Other Conferences				*	_,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	7	2002	T.	_,,
Preparation		\$	330.00	\$	_	\$	7	\$	
Attendance		\$	330.00	\$		\$		\$	
Case Management		\$	170.00	\$		\$		\$	
		7	170.00	7		7		7	

Time Sheet:	Laurance	booth
time sheet:	Laurence	pootn

		Time	Time		Total	Total	
Date	<u>Task</u>	Begun	End	<u>Hours</u>	Hours	Bill	days
June 23	Reviewing filing information	10.00	17.30	7.50	7.50	\$2,475.00	0.94
June 24	Reviewing filing information	10.00	18.00	8.00	15.50	\$5,115.00	1.94
June 30	Conference call with lawyer and review	9.00	12.30	3.50	19.00	\$6,270.00	2.38
Aug 29	Preparation for Janigan	10.00	12.00	2.00	21.00	\$6,930,00	2,63
September 27	Preparation of Irs	10.30	18.30	8.00	29.00	\$9,570.00	3.63
September 28	Preparation and sending IRs for review	8.30	12.30	4.00	33,00	\$10,890,00	4,13
September 30	Reviewing and changing IRs	12.00	13.45	1.75	34.75	\$11,467,50	4.34
November 3	Reviewing OPG and Concentric IR answers	13.00	17.30	4.50	39.25	\$12,952.50	4.91
November 29	Reviewing Brattle report and preparing IRs	10.00	16.30	6.50	45.75	\$15,097,50	5.72
December 16	Review Brattle group answers	10.00	16,30	6.50	52,25	\$17,242,50	6.53
16-Mar	Reviewing material for cross	10.00	12.30	2.50	54.75	\$18,067.50	6.84
20-Mar	Working on cross: Coyne	12.00	21.00	9.00	63.75	\$21,037,50	7.97
21-Mar	Working on cross: Villadsen	9.30	16.30	7.00	70.75	\$23,347.50	8.84
23-Mar	New data to Janigan	13.30	14.30	1.00	71.75	\$23,677,50	8.97
24-Mar	Meeting with counsel	15,30	17.15	1.75	73.50	\$24,255.00	9.19
04-Apr	Meeting with counsel and attendance: cross	8.00	13.00	5.00	78.50	\$25,905.00	9.81
05-Apr	Meeting with counsel and attendance: cross	10.00	13.00	3.00	81.50	\$26,895.00	10.19
10-Apr	Working on final argument	14.00	16.30	2.50	84.00	\$27,720,00	10.50
11-Apr	Working on final argument	12.00	18.30	6.50	90.50	\$29,865,00	11.31
12-Apr	Sending off final argument	8.30	19.45	11.25	101.75	\$33,577.50	12.72
	HST at 13%					\$4,365.08	
	Total					\$37,942.58	

#### Laurence Booth, Larboot Financial 34 Crescent Road, Toronto M4W 1S9

#### (416)-978-6311

TO:

Cynthia Khoo, PIAC

FROM:

Laurence Booth

DATE:

July 4, 2017

RE:

OPG Hearing July 2017

GST:

82370-1610-rt0001

The following is invoice for work on the recent OPG hearing.

- Reading OPG filing and Concentric report
- · Preparation of information requests
- Reading Brattle report
- · Developing cross examination for Ms.Khoo
- Mr. Coyne
- Ms. Villadsen
- Liaising with lawyer
- Drafting final argument for Ms. Khoo

Final Time Invoice at \$330 HST at 13% Invoice: 101.75 hours \$33,577.50 4,365.08

\$37,942.58

Please make a cheque payable to Larboot Financial at the above address a time sheet follows:



#### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2016-0152		Process: O	PG 2017 Payments	
Party:	VECC		Service Pro	ovider Name: Mark Garner	
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experier	of Relevant
	Legal Counsel			29	
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	ched	HST Rate Charged (enter %):	3.9%
		✓ CV prov	ided within previous	24 months	

S	tatement c	f Fe	es Being	Cla	imed		
	Hours	Но	urly Rate		Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	330.00	\$	949	\$ 27	\$ 160
Attendance		\$	330.00	\$	-	\$ 4	\$ 8₩;
Technical Conference							
Preparation	12.5	\$	330.00	\$	4,125.00	\$ 162.53	\$ 4,287.53
Attendance	4.25-4.3	\$	330.00	\$	1,402.50	\$ 55.26	\$ 1,457.76
Interrogatories							
Preparation	29.0	\$	330.00	\$	9,570.00	\$ 377.06	\$ 9,947.06
Responses	6.5	\$	330.00	\$	2,145.00	\$ 84.51	\$ 2,229.51
Issues Conference							
Preparation		\$	330.00	\$		\$ 7.	\$ 350
Attendance		\$	330.00	\$	72)	\$ <u>2</u>	\$ _
ADR - Settlement Conference							
Preparation	3.0	\$	330.00	\$	990.00	\$ 39.01	\$ 1,029.01
Attendance		\$	330.00	\$	-	\$ -	\$ 8 <b>m</b> 8
Proposal Preparation	8.5	\$	330.00	\$	2,805.00	\$ 110.52	\$ 2,915.52
Argument							
Preparation	9.5	\$	330.00	\$	3,135.00	\$ 123.52	\$ 3,258.52
Oral Hearing							
Preparation	9.5	\$	330.00	\$	3,135.00	\$ 123.52	\$ 3,258.52
Attendance	2.0	\$	330.00	\$	660.00	\$ 26.00	\$ 686.00
Other Conferences							
Preparation	1.0	\$	330.00	\$	330.00	\$ 13.00	\$ 343.00
Attendance	2.5	\$	330.00	\$	825.00	\$ 32.51	\$ 857.51
Case Management		\$	170.00	\$		\$ 	\$ (#C
TOTAL SERVICE PROVIDER FEES				\$	29,122.50	\$ 1,147.43	\$ 30,269.93

#### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

# Bill To Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

#### **Statement of Costs**

Date	File #
7/25/2017	2017022

Terms	Docket No.	
Net 30	EB-2016-0152	

#### Project

#### OPG 2017 Payments

Serviced	Item	Description	Hours	Rate	Amount
3/30/2016	Other Conf. Attendance	Application review meeting among intervenors/discuss areas parties would focus on and issues that should be explored in discovery.	2.5	330.00	825.00
8/4/2016	Other Conf. Preparation	Intervenor Conference Call to discuss areas for review at Technical Conference	1	330.00	330.00
9/8/2016	Technical Conf. Preparation	Prepare for Technical Conference/review evidence/notes	7.5	330.00	2,475.00
9/23/2016	Technical Conf. Attendance	Attend untranscribed technical conference	4.25	330.00	1,402.50
10/1/2016	Interrogatories Preparation	Interrogatory preperation/review evidence/notes	5	330.00	1,650.00
10/2/2016	Interrogatories Preparation	Interrogatory Preperation/review evidence/notes	6.5	330.00	2,145.00
10/3/2016	Interrogatories Preparation	Interrogatory preparation/review evidence/finalize IRs/Notes/prelim compendium	9.5	330.00	3,135.00
11/10/2016	Interrogatories Responses	Review interrogatory responses/notes prepared for technical conference	4.5	330.00	1,485.00

HST #10160 6028

#### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

#### Statement of Costs

Date	File#	
7/25/2017	2017022	

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

Terms	Docket No.
Net 30	EB-2016-0152

#### OPG 2017 Payments Serviced Item Description Hours Rate Amount 11/12/2016 Technical Conf. Preparation Prepare Technical Conference 5 330.00 1,650.00 brief and questions for Michael Janigan/review IR responses 12/2/2016 Interrogatories Preparation Intervenor evidence (Brattle, PEG 8 330.00 2,640.00 etc) interrogatory preperation and evdience review and notes. 1/7/2017 ADR Preparation Settlement note preperation for 3 330.00 990.00 MJ 1/8/2017 ADR Proposal Preparation Settlement note preperation/brief 8.5 330.00 2,805.00 MJ. 1/9/2017 Interrogatories Responses Attend ADR for purpose of 2 330.00 660.00 clarifications of issues - Bruce Lease. 3/6/2017 Oral Hearing Attendance Attend Hearing 9:30-11:30 - 1 hr 1 330.00 330.00 charged only/MJ off of file CK transition 3/7/2017 Oral Hearing Attendance Attend Hearing for transition with 330.00 330.00 CK 3/8/2017 Oral Hearing Preparation Briefing meeting with M. Janigan 3 330.00 990.00 and C. Khoo to transfer files over to Ms. Khoo and prepare for hearing cross-examination

Project

HST #10160 6028

Total

#### **Econalysis Consulting Services**

34 King St East Suite 630 Toronto, Ontario M5C 2X8

#### **Statement of Costs**

Date	File #
7/25/2017	2017022

Bill To

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

Terms	Docket No.
Net 30	EB-2016-0152

Project							
OPG 2017 Payments							
Serviced	Item	Description	Hours	Rate	Amount		
3/9/2017	Oral Hearing Preparation	Panel 2Aii reveiw and compendium for CK - no cross prepared.	1.5	330.00	495.00		
4/3/2017	Oral Hearing Preparation	Prepare Compendium for CK (10am-12; 1 hr not charged)	1	330.00	330.00		
4/11/2017	Oral Hearing Preparation	Panel 6 cross preperation and compendium	4	330.00	1,320.00		
5/26/2017	Argument Preparation	Draft Argument with CK.	3	330.00	990.00		
5/28/2017 Argument Preparation	Draft and finalize argument with CK. Subtotal	6.5	330.00	2,145.00 29,122.50			
		HST on Sales		13.00%	3,785.93		
		-					

HST #10160 6028 \$3,785.93

Total \$32,908.43